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. Modern synthetic fibers

. Atmospheric chemistry

. The Haber process for ammonia synthesis
. The amount of calcium chloride

. The first law of thermodynamics
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Biological transformation of nitrogen into useful chemicals is embarrassing for the
chemical industry, since all the effort of all the industry’s technologists has been unable
to find an easy alternative to this.

Many of these unit operations have certain fundamental and basic principles or
mechanisms in common. For example, the mechanism of diffusion or mass transfer
occurs in drying, absorption, distillation, and crystallization. Heat transfer occurs in

drying, distillation, evaporation, and so on.
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Chemical engineering is above all (35)___ on the chemical sciences, such (36)______
physical chemistry, chemical thermodynamics, and chemical kinetics.In (37)___ so,
however, it does not simply (38)____ their findings, but (39)____ them to bulk
chemical processing. The principal objectives that (40)____ chemical engineering apart
from chemistry as a pure science, is “to (41)___ the most economical route of operation
and to (42)____ commercial equipment and accessories that (43)___ it best of all”.
Therefore, chemical engineering is (44)______ without close ties with economics, physics,
mathematics, cybernetics, applied mechanics, and other technical sciences.
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